


14 Hn

—’k - D
AMn1 NAT
A storage’ M M A

A YMAT
AMd T AN
AMN 1T M A
AT dMATN A



Agenda

k Service & System Overview
k Amazon DynamoDB N
k> A° o)
I AN
M- o
T

\
o
o MMAT 2 T Tips

(

k

.
/9 ¥ >

|
Throttled & Partitions

aN1 X  1e "~ A
Dynamic Dynamo NWA AN A
k Dynamic Dynamo Tips

=
~
w
o W
=
o

k

k

TR xarx < x

k Amazon RDS N
k Amazon Aurora~ = M MA



Service Overview

~ - —
~ “a

1Y A1 YN T Y M NA)
ANA T NdANDAT ToX VP
A web server: 12 ~ 50

A access: 3000 ~ 30000 / min

A RPG
A A 1777 T " AYnv- SqNd T T T AV
An~s W ~ 7 j v/ CloudWatch E=4 U >4 DR x
A 4 /-I b '7 T \l \_I '\l ~ 7 AHUITARR (AT L) Wi AN v RMEE: A EM v o 15 v O
A“*ﬁﬂ’ S K -

" =
00:00 00:00 00:00 00:00 00:00 00:00 00:00




System Overview
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System Overview
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Amazon DynamoDB A’
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memcached > playerAinM json~ & "~ 7 . i 94
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update
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get
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update playerB

!

{<d°: 1, —point°: 300}

-~

5



Amazon DynamoDB =~ 1

AN A

A atomic counter = 41 save
AT ad4T AT AT T Y AX 47
A Number A d4j cas’ 1Y A7 X0 |
point: +100 playerA
dynamoDB / {—d°: 1, -point°:
get 200}

{-d°: 1, —point?°:
1

aTall
\>A~

point: +200

playerB

{-d°: 1, —point?©:

300}




Amazon DynamoDB =~ A A\ A

A conditional save =~ N
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A write: $0.0065 10unit / hour
A read : $0.0065 50unit / hour
A storage size: $0.25 / (GB*month)
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Write N ° N Capacity

A Putltem, Updateltem, Deleteltem, BatchWriteltem
A capacity = ceil( T item Y nV / 1KB)
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1. write capacity™ 1.
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Index  Write Capacity
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player_id : N (hash key)
some_id : N (range key)

filter_key: S
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Amazon DynamoDB Partition ing
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Amazon DynamoDB Partitions - Hot Key/Partition Issue
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W Data~ 1A 0 ~. 3 x  w’ > Throttling X

aws.dynamodb.read_throttle_events  show 5w I x

Time series tables

Hot data

5 - RCUs = 10000
c t tabl Event_id Attrlbute1 ... Attribute N o
urrent table Sort WCUs = 10000

SIS RRTLES el Attributet1 ... Attribute N RCUs = 1000

Partition Sort WCUs =1
Older tables

RSt Attribute1 ... Attribute N~ RCUs = 100

Partition Sort) WCUs =1

Cold data

S SC R TaESElull Attribute1 ... Attribute N RCUs = 10
Partition Sort WCUs = 1
Don't mix hot and cold data; archive cold data to Amazon S3
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